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Level 
A 25MVA. 13.2k\V synchronous generator is connected to a 
synchronous motor of same rating. Both have a transient reactance 

of 15%. The line comecting them has a reactance of 10% on the 

machine base. The motor is drawing a power of 18MW at 0.8 pf 
lead. at 12.9kV. when a short circuit occurs at its terminals, find the 

subtransient currents in the motor. generator and at fault points. 

Applying 
K3 CO2 

A three phase. 5MVA. 6.6kV altermator with reactance of 8% is 

connected impedance 
(0.12+j0.48).2/phase/km. The transformer is rated at 3MVA. 

to feeder of series of 

6.6kV/33kV and has a series reactanee of 5%. Determine the fault Applying 
K3 CO2 

current supplied by the generator operating under no load with a 

voltage of 6.9kV. when a 3 phase symmetrical fault occurs at a point 

15km along the feeder. 

A synchronous generator and synchronous motor 25MVA. 1IkV 

and having 15% subtransient reactance are connected through 
transformers and transmission ines as shown figure. 
Transformers are rated 25MVA, 11/66kV and 66/IkV 

respectively, with leakage reactance of 10%cach. The line has the 

reactance of10% on the base of 25MVA. 66kV motor is drawing 
15MW with 0.8pf leading and terminal voltage of motor is 10.6kV. 

Applying 
K3 C02 

when a sy immetrical 3 phase fault occurs al its termimal. Determine 

the subtransient current in generator, motor and fault current. 



A 250 MVA. 1IkV.3 phase generator is connected to a large system 

through a transformer and a line as shown in fig below. 

Applying 
K3 CO3 

Generator: XI= X2 = 0.15 p.u, X0=0.1 p.u, Transformer: X = X2 = 

X0= 0.12 p.u, Line: Xl= X2 = 0.25 p.u. X0=0.75 p.u ,Equivalent 

system: XI= X2 = X0= 0.15 p.u, Obtain the sequence network 

diagrams for the system and indicate all per unit values. 

Obtain the zero sequence impedance networks of a 

transformer for the following connections. Applying 
K3 CO3 2 
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